N = Ol & AF & ZF A

01T 204 QLI WD ~ ML
SM D

M OLEM KgAlS B

Sl KAl S0t

A

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
X < ot 1,827,719 1,826,890 829
OHE A XMl &2 425,347 457,267 A31,920
KetAl 21t 218,879 219,658 ATT9
Ketal 21t 49,771 45,600 4,171
101 Q1 Z4H| 11,871 0 11,871
04 JIZHNIZE2XESE = 11,871 0 11,871
0 XIZAl HIDHAI. 28 ZAH(1Y) 11,871
o Jleag 34,9108 * 280 9,775
o = (FAUE) 34,9108 » 50€ 1,746
o JilRssIt=d 34,9108 » 10& 350
201 LEHRHH| 12,600 12,600 0
02 2323l 12,600 12,600 0
0 A8 &Yl |4 12,600
203 R4l 1,500 1,500 0
03 A MF=XHSLFEH| 1,500 1,500 0
0HRZE U YN Z+BE ZTY) 1,500
301 YptBazg 2,000 4,000 22,000
12 JIEtE 4= 2,000 4,000 A2,000
0 NIgA SagM AHEE N3 2EF3
20,0003 » 509 = 23| 2,000
303 L&z 1,000 3,000 22,000
01 Za3z 1,000 3,000 A2,000
0 KNIZA N3 1,000
403 XXM SA=201H 20,800 24,500 A3,700
02 BI12SO0CHEHCHE AL I 20,800 24,500 A3,700
0 EEAAE RIE=H 15,700
0 SEALAE RE=H 5,100
NZE Ot 110,000 110,000 0
303 &= 10,000 10,000 0
01 Z&32 10,000 10,000 0
0 29 HEEI AAS(6HEH) 10,000
401 Al&HI LS04I 100,000 100,000 0
01 Al&H| 100,000 100,000 0
0 S8 MZEI &AHI(BHESH) 100,000
fu 2EXH 59,108 64,058 A4,950
201 EH2HH| 41,360 43,190 A 1,830
01 AtER22/Hl 16,360 18,190 A~ 1,830
0 L=t 15,230




SM: D
M OLEN KgAlS B
Sl KAl S0t

SN FHH - CA(SA) - NRAY - BES Off &k OH ggi HmE2
0 2g+y 1,130
02 SZ=2%H| 25,000 25,000 0
02322 < MA 25,000
202 ofHl 17,748 20,868 A3,120
01 =ZLHoiHI 17,748 20,868 A3,120
0 2Loidl 170,0008 * 5% 128 10,200
0 2201t 50,0008 * 5% = 12® 3,000
0 HIRSREA o3l
75,8008 * 109 = 3 * 23] 4,548
XAl 7 AR O} 133,556 155,264 A21,708
FEHTAL L THAM S D 133,556 65,580 67,976
101 o124t 31,315 45,045 13,730
04 JIZH22RSES 31,315 45,045 13,730
0 FEAXZAH13Y) 31,315
o J=3 34,9108 * 139 » 60 27,230
o FRULY(FI+Y)
34,9108 * 139 » 9 4,085
201 LEred| 94,321 20,535 73,786
01 AtR22lb| 70,601 20,535 50,066
0 Yer2H| 13,800
0 2g+g 3,360
0 FEHIAAS S22 53,441
02 S22t 23,720 0 23,720
02322 ¢ HA 23,720
202 01| 7,920 0 7,920
01 =LHoiHI 7,920 0 7,920
0 2Loidl 170,0008 * 3% » 12& 6,120
0 2901t 50,0008 * 3% = 12 1,800
XAl 72,912 82,345 N9,433
XA & Aelsgas 16,000 17,000 A1,000
303 Z&3 5,000 5,000 0
01 ZTa2 5,000 5,000 0
0 ZHES =43 4,000
0 EIAIZ IEE 4 TaZ 1,000
403 TtXISHHSKHE0IA 11,000 12,000 A1,000
02 ZII2SOITHEHCHE AL b 11,000 12,000 A1,000
0 MioI+e HEAAY S8 QK22 11,000
Nzl 2gxa 56,912 65,345 18,433
201 LEred| 43,952 44,945 A993




DMt

CerEA XA B2

AN 2t

SN I SRI(S) - NRAY - B sk Soe B RS2
01 AtSR22/Hl 29,010 32,235 A3,225
0 ZEt==ZH| 29,010
02 2523l 14,942 12,710 2,232
02223 £ HMA 12,542
0 Al & HI=XIHI 2,400
202 O4Hl 12,960 20,400 ANT,440
01 =Wl 12,960 20,400 AT,440
0 2L HI 170,0002 * 4H = 12& 8,160
0 220yl 100,000& = 4Y * 128 4,800
HEt 3 HIA 2 110,710 153,447 N2 737
AHX™el (Feal) 110,710 153,447 N2, 737
dol 2gAA 110,710 119,447 A8, 737
201 B3| 97,510 103,127 A5,617
01 AtE22|Hl 64,010 71,127 AT 7
0 Let=ZH] 44,550
0 28=Y 19,460
02 =234l 33,500 32,000 1,500
0 332= & HAl 1,500
0 Al ZEHl Sl 32,000
202 O4Hl 13,200 16,320 A 3,120
01 WY 13,200 16,320 23,120
0 Z2LHOd Bl 170,000& = 5% * 12& 10,200
0 2214l 50,000& * 594 » 12& 3,000
Hat2te| 967,160 892,634 74,526
37 a2t 58,511 30,752 27,759
I3 FMat2te 58,511 30,752 27,759
101 el 24| 11,871 11,220 651
04 JIZHMIZ22XEE =+ 11,871 11,220 651
0 2FMHa2e (1Y) 11,871
o JlE2ag 34,910& * 198 * 280 9,775
o FEULY(EX4Y)
34,9108  1¥ = 50¢ 1,746
o AXtrgsIt=g 34,9108 + 18 *10& 350
201 LetEIH| 16,640 19,532 A2,892
01 AtR22/Hl 16,640 19,532 N2,892
0 ZEt==ZH| 16,640
o ZZRML S| 7,040
o LM 2HA4E 7,500
o =g ddZ Sl 1,600




S =M a2t (el &)
M-8 SRI(310) - MRAY - BeS sl e HlRE2
o YA X 2 500
401 Al&HIZL=ROHYI 30,000 0 30,000
01 Al&H| 30,000 0 30,000
0 AIEAI & 2014 30,000
o SRMA 2ESU Al 30,000
2 =52 908,649 861,882 46,767
EAb2tel 389, 152 400,980 A 11,828
101 Q14| 16,410 15,510 900
04 JIZHMIZ2XEE =+ 16,410 15,510 900
0 28 2 gaxZ2e] MExY(2Y)
34,9108 » 2H = 65¢ 4,539
0 A2l (1Y) 11,871
o Jleg 34,9108 1% * 2802 9,775
o HREIFI==Y 34,9108 = 1% » 10 350
o FEULY(ZX4Y)
34,9108 » 1H = 50 1,746
201 et 79,242 79,970 AT28
01 AtS22/Hl 39,290 43,658 24,368
0 EAt2te| 39,290
02 =234l 39,952 36,312 3,640
0 244 39,952
203 R4l 1,500 1,500 0
03 AMF=XHLFEH| 1,500 1,500 0
0 =.3FMe & FA2e FRFE| 1,500
206 M=l 4,000 4,000 0
01 M=H| 4,000 4,000 0
0 EAH &4 2,200
0 EAL I +& 1,800
401 A EHIL 201 258,000 300,000 242,000
01 Al&HI 255,000 300,000 45,000
0 tHala ZHEAIE BB A 50,000
0 EAb 272 B3 A 60,000
0 Xiot CtsHA S Atd| 30,000
0 HA I2lE EXI3AH(EES) 15,000
0 EA MK HEAR(LED) 100,000
03 Al£=R0HHl 3,000 0 3,000
0 al2al L HArze AA2AY 3,000
405 XtobE SHI 30,000 0 30,000
01 T =S FH SHI 30,000 0 30,000
0 A IR (324, ZHINEHES) 30,000




M HR
T T2

el FAL Y =32 (etel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F OH gl,liafg BlusZ
g 2 =52 266,400 214,400 52,000
201 LEH2HH| 176,100 184,100 28,000
01 At 2t2ibl 6,000 6,000 0
0 k2 S8z It 7
50,000& = 10CH * 12& 6,000
02 3224l 170,100 178,100 28,000
08323 % HMAl 20,100
o NSAHAl 210,000& = 20CH 4,200
o BIMNERES 95,0003 * 20CH 1,900
o Usi 282 700,000& = 20CH 14,000
0 Xtk et 150,000
202 O 19,800 19,800 0
01 =LHAOYI 19,800 19,800 0
SHE ol 19,800
o ZHH oY 10,000& * 5% « 8 » 12& 4,800
o 22104 50,000& = 5& » 5& » 123 15,000
301 LEtE2AS 10,500 10,500 0
10 SAIAHIEA S 10,500 10,500 0
0 25E AZ2dE S22 HSUHIOHE) 6,500
0 ZE2TAZRA S3FsUa 2L (0L
=) 4,000
405 XtobE SHI 60,000 0 60,000
01 ML ESF=H 60,000 0 60,000
0 Xtz e 60,000
Heteg 2N 253,097 246,502 6,595
201 LEH2HH| 242,537 232,222 10,315
02 323l 242,537 232,222 10,315
0 EA2EH 242,537
202 Oddl 10,560 14,280 AN3,720
01 =LHOYI 10,560 14,280 A3,720
0 MetE gE0id 10,560
o ZLHo Y| 170,000& = 48 » 128 8,160
o 2210 50,000& * 4% » 123 2,400
WRes(HR) 242,350 243,400 A 1,050
SENE (M2 242,350 243,400 A 1,050
RSP ES 200,000 200,000 0
802 gret=JIEt 200,000 200,000 0
01 =1EXste=s 150,000 150,000 0
0 = EXz=EE= 150,000




M HR
HH: NHRES(HR)

Sel BEXE(HPD) (etol & e
_ _ SIEN
SA B RI(BH) - HRAY - BAS 0f - o i bl m =2
02 Al - SHZ2EZ8a3 50,000 50,000 0
0 ANSHEEIa2 50,000
HOLCIH AL A 42,350 43,400 A 1,050
311 XU B0IXta S 7,350 8,400 A 1,050
06 JIEFXHE SOI R4 &t 7,350 8,400 A 1,050
0 FABIFA XHUS 01Xt 7,350
601 RUBRZate 35,000 35,000 0
06 JIEF=LIRI 2R S A8 35,000 35,000 0
0 HUBHA NYS A2 35,000
HHSS LY (WP 82, 152 80, 142 2,010
ol (P D) 36,752 34,742 2,010
olzte | 36,752 34,742 2,010
101 ©1>2AH| 36,752 34,742 2,010
03 PIIHA2Z RS 36,752 34,742 2,010
0 MEASH 1Y) 18,301
o Jl=3 34,9102 * 300 10,473
o 4013 10,473,0008 * 4/12 3,491
o KBEUYLL(FAUHY) 34,9108 « 52 1,816
o MXRIEIN+Y 34,9108 * 16 559
o AZ2tQZRAY 6,508 * 25A12 » 128 1,962
0 FAtRI(1%) 18,451
o Jl=3 34,9108 * 300 10,473
o 4013 10,473,0008 * 4/12 3,491
o KBEUYLL(FAUHY) 34,9108 « 522 1,816
o UXNRIEIN+Y 34,9108 * 242 838
o A (5H014)
10,473,008 * 10/100 1,048
o A2tQ2R4Y 6,502 * 10AI » 128 785
=AU (W2 D) 45,400 45,400 0
1| 45,400 45,400 0
201 Y2 ] 41,200 41,200 0
01 AL/t 41,200 41,200 0
0 LB (BS) 22,000
0 2HI(BS) 19,200
203 YRFAY| 4,200 4,200 0
04 RANSAYLT A 4,200 4,200 0
0 2ASY 350,0008 * 122 4,200




